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Question Number : 1 Question Id : 3354727031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a natural region of Madhva Pradesh? | Fafe T # & 319 @7 9eg w24 77 m@ia® o7

T &7

Options:

1. ® The Plateau of Central India | AT ART ®TTEAR

= % The Western Flateau | THEHT U2

3. % The Satpura and Maikal Region | Sd9T T BT &9

4. % The Narmada-Sone Valley | 98-8 =T

Question Number : 2 Question Id : 3354727032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat field has the eminent Indian scientist, Asima Chatterji, contributed to? | WRT & T TG T d=AT-E ST

EEEIERET IR E R AT AT -

Options:

1.IO ' MNatural products chemistry | WgE® Je0Tg T
2. % Polymer chermistry | aga® TaE

3 ® Chemical evolution | TETIE ST

4. % MNuclear physics | AT = AT

Question Number : 3 Question Id : 3354727033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which Chief Justice of India acted as the President of India? | WX & Toe Q& ~ATTEe 5 a0 & TET & &0 # #1d

Options:
1. % KN Wanchoo | #.104. T
2 % K. Subba Rao | & Heal e

2 ¥ M. Hidayatullah | U0, Eargear
4, % PE. Gajendragadkar | UL TegEwT

Question Number : 4 Question Id : 3354727034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tnited MNations Day’ is celebrated o
AT AT 21

Options:

1. % 24th October | 24 a/@Taw
2. % 20th October | 20 e
3. % 15th Cctober | 15 SFgaT
4. % 17th October | 17 SFgaw

_____________ of every year. | "H® UF Toae, Wadw Y _____________ @l

LY

Question Number : 5 Question Id : 3354727035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which Indian movie is India’s official entry to the Oscars 20187 | 0 ARG e @7 sifea 2018 # g &1
STTErRTICe Miee THer?

Options:
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1. % Mewton | g2
2 % Queen | g
% % Dangal | 3T
4. % Golmal | TRt

Question Number : 6 Question Id : 3354727036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following cormrmittess subrmitted the report to Supreme Court for reforms in BCCI? | adietamg §
qew ! & oy et H & Torerer wartg] wamaTe w1 e |

Options:

1. % R.M. Lodha Committes | 3%.0H, @lGT @iHTE

2. % M. Venkatchellaiah Cormrmittes | UR.UH. deaaetar At
% % santosh Hegde Committes | @979 5712 @0

4 % sunil Gavaskar Corrrittes | GAT6 TTaew TS

Question Number : 7 Question Id : 3354727037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MNarme the one and only Marshal of the Indian Air Force who passed away recently. | W 1 914 7 & THRAT
AT T AT T, AT 51 81 | e 87 Tem

Options:

1. % Subroto Mukherjee | Gadr §&@=1
2. % Dilbagh Singh | &aamT g

= ¢ Arjan Singh | &4 9E

4. % 5P Tyagi | Ua.Of =il

Question Number : 8 Question Id : 3354727038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where in India has the Dzogchen Monastery of Tibetan Buddhism been re-established? | TdeadT aflg o &
ST U3 &1 R | ®gl Qe &ar T 7

Options:

1. % Sikkim | F&fgA

2. % andhra Pradesh | ST 084
2. ¥ Karnataka | Tic®

4. % Himachal Pradesh | AR wdar

Question Number : 9 Question Id : 3354727039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who has been appointed as the Chairman & Managing Director of Air India recently? | W 51 # T2R 1247 &
ey U Wele a3 v # T T T mame

Options:

1. ® Rajiv Bansal | T a9

2. ¥ Pradeep Singh Kharola | W& &g @i
% % Ashwani Lohani | aTfeHT &@gHT

4, % Amitabh Kant | i@ #a
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Question Number : 10 Question Id : 3354727040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which year was Doordarshan established? | Geed= & ST fore o # g2 ot

Options:

1. % 1950
2 % 1953
3. % 1956

4. ¥ 1959

Question Number : 11 Question Id : 3354727041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The majo% river that flows in Chhattisgarh and Odisha is ________ | TR ST FS AT H S ATl T el

Options:

1. % Mahanadi | AEHST
2. % Betwa | &dar

3. ¥ Narmada | THaT

4 ® Godavari [ ME@Ed

Question Number : 12 Question Id : 3354727042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Vindhyachal Therrmal Power Station is located in which one of the following places? | HaATwTET & & g
FIH T fere=rae e ey wa 2m 27

Options:

1. % Singrauli | REIET
2. % Indore | 22T

3. % Pune | qor

4. % Ehopal | AT

Question Number : 13 Question Id : 3354727043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The main source of water supply to the city of Indore is from

_______ river. | S AET H UTHT T ATgf @ g Hig

Options:

1. % Narmada | THa7

2 % Saraswati | AOEET
2. ® Khan | 9H

4, ¥ Kshipra | t&mr

Question Number : 14 Question Id : 3354727044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Sun Temple of Morena district is situated in _______ | AT et @ o wiee

Options:
1. % Aeti | THT

2. % Lehri | #gar
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2. % Jaura | SRT
4. % MNurpur [ TYT

Question Number : 15 Question Id : 3354727045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The farnous poet Makhanlal Chaturvedi was born in ______ | TRig, e HEIATS el &=l ______ H paT 2

Options:

1. ¥ Chhindwara | fgae=T
2. % Raisen | Te

3. % Gumalior | TaETwe

4, ¥ Hoshangabad | SEMETE

Question Number : 16 Question Id : 3354727046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The famous wildlife sanctuary in Dewas is the

Options:

1. % Deer | goa

2. ¥ Kheoni | F3HT
3. % Kanha | &gl
4. % van Vihar | a9 TEw

Question Number : 17 Question Id : 3354727047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MName the district situated towards north of Badwani. | SSaHT & 3% @1 A 7900 76 &7 71m a915a
Options:

1. % Char | 97

2. % Alirajpur | STHRFT
= ¥ Indore | 32K
4. #® Khandwa | 9=ar

Question Number : 18 Question Id : 3354727048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following rivers flows parallel to Narmada in Madhya Pradesh? | qea ugy # Faiies & 4 -9
T AHET & HAEL a5 57

Options:

1. # Shipra | f9mr

2. % Tapti | F07

2. % Charnbal | =Tveed

4 # Ken |94

Question Number : 19 Question Id : 3354727049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fanchan Ghat is located across river | FEE T
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Options:
1. ® Charnbal | =
= ® Narmada | 9827
2 ¥ Betwa | sadT
4. % Yammuna | 941

Question Number : 20 Question Id : 3354727050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The final match of the 2016-17 Ranji Trophy cricket tournament was held in

Tt AR ST A B ______ H s T T am
Options:

1. % Chattisgarh | FoTg

2. ¥ Madhya Pradesh | T 0

3. % Odisha | sTiEam

4 % Murnbai | 95

_____ | 2016-17 o T 210!

General Maths and General Aptitude

Section Id : 335472214

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472214
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A fraction F becomes % when the denomunator is increased by 4 and becomes _;\t'hen its

numerator is decreased by 5. Then F equals to: /U == F, % @ ST oid g1 4 ¥ dC™T

S &3 %aﬂmﬁaﬁsﬂmmrﬁﬁrmm 2| OdF oHG & &

Options:
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o % D9
11
T
3. v
13
4 % 21

Question Number : 22 Question Id : 3354727052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Consider the set {3, 4, 5, §, 7, 8, 9}. From this select any subset of 2 elements. Multiply two nurribers from the
2 element set and add the third number to it. What is the smallest nurmber that you can get from all the 2

elernent sets? | 9OE {3, 4, 5, 6, 7, B, 9 W AR w4 590 & 3 argaal F et HT TIF T 5 3 Aggat F
o & f Tt w7 0 S IR o (a0 ST w121 9F fgaH ST T ¢ e S J6 3 sadEt & 9ugd J 0 @ .

Options:
1. %3
2. % 10
3. % 15
4.9 17

Question Number : 23 Question Id : 3354727053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If (x + 1) and (x — 2) are the factors of the polynomial p(x) =

x® — ax®+bx+ 6 ,then the respective values of a and b are: /Jig Eic p(x) =x2 —
ax®+bx + 6% g TWEs (x+1) 3N (x - 2)§ @ a 3N b F FAGER AA &

Options:

1. % -Sand 0| -3 3RO
2. % 0and 3/ 0R3
Z % gand 06RO
4 ¥ 4and1 431

Question Number : 24 Question Id : 3354727054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1 |
What is 2° *— 2/ 2° »— T GI?

i i

Options:

33
1. % 7

2. ¥ 32
3. % 10
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Question Number : 25 Question Id : 3354727055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

BEath=4q Eu:u:lab=12__thf:nwhatisl—%?fﬂ‘ﬁ.’a—b=?3ﬂ13h=12__ﬁ‘r
a

| =
Cp | =

Options:
1. % 19

2. %5

Question Number : 26 Question Id : 3354727056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Find the average. | 9a FHETiam
27,14, 32, 158, 39

Options:
1.9 26
> % 24
3. % 22
4. % 20

Question Number : 27 Question Id : 3354727057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a triangle with one of the angles equal to 90°, two sides are given as 60 cm and 80 cm. What is
the length of the longest side? / Teh T3hIUT # S @aT T 0T 90° & FUET &, &r SiGITQ'

FATER 60 AT AR 80 FAT & 713 &1 EIAH o[ & FAFaTS FAT 87

Options:
1. % 70cm | 70 94t

= ® 90cm [ 90 BET
2 ¥ 100 cm | 100 94t
4 ® 105 ¢cm | 105 96T

Question Number : 28 Question Id : 3354727058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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0.0536x0.064x14.4
0.08x0.007=0.04x12

-

Options:

1.9 19z
2 % 192
3 % 192

4. % 0182

Question Number : 29 Question Id : 3354727059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IT 4x2 + 6x +1 =0, then (4x + 3)2 is: /ITE 4x2 + 6x +1 = 0,3 (4x+ 3)2 &

Options:
1.% -1
Z %1
3¢5
4 #® -5

Question Number : 30 Question Id : 3354727060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

State what tvpe of triangle it 15, if the angles are 3x°, (2x+-200° and (5x 407°. /T hHoT 3x0,
(2x+20P 3 (5x 400§, o FaC & I5 & weN &1 BT g2

Options:

1. # Right angled triangle | GHFNOT 0T

2. % [sosceles triangle | GHIgeTgy FHIT

2. ¥ Equilateral triangle | GHaTg H@m

4. % Scalene triangle | feuwaTg et

Question Number : 31 Question Id : 3354727061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There are 26 alphabets in English vocabulary. What is the probabilit -::uf choosm a vowel from the set of
alphabets? | seaTde B 26 a0 1 S o Ag | UF T6) & Oa= g

Options:

1. % B§j28
2. % 214
3. ¥ 265
4. ¥ 526

Question Number : 32 Question Id : 3354727062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If DANCE i5 coded a5 52861, ANT as 283 and SAT as 723. What will 73285 stands for? | 9% DANCE &7
2861 | ANT W1 283 €, T SAT ®1 723 § #I1Ed 5T =T 81 91 732854 e wdta gime
Options:
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1. % TAMNED
2. % DESNT
3. ¥ STAND

4. % TANDS
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 33 Question Id : 3354727063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If % of 140015 119, then x is equal to: [ Tl 1,400 FTx% 119 &, T7 x SHF a6 o

Options:
1. % 17

2. % 28
3.¥ 85
4 ® 75

Question Number : 34 Question Id : 3354727064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ratio between the present ages of & and E is 2:3, respectively. If E is 4 years older than A, then what will

be the ratio of ages of & and B after 4 years? | A W E & 9 O 311 3 siic %7 0T FAT 2:3 81 ICE, & §4 79
ST, O 4 0T & WaId A 3 B o sffa @7 argdm &1 gim?

Options:
1.9 3.4
2. % 35
3% 43
4 % Mone of the above | IUg® T § 15 T8

Question Number : 35 Question Id : 3354727065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If 45 — 4x® + x¥ + x2—x + 1 is divided by x — %%, then the remainderis . /O7d 4x° —4x* + x°
+x-x+1 @ x-%¥ Geiad = o g, dr duhe grem|

Options:

1. %1

R

38

4. v #

Question Number : 36 Question Id : 3354727066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Simplify: [/ Fe &
(xt+y+z2)(x+y—2)

Options:
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x? +y iz dny
1. %

e B Lk B Sy
oow

P i +yizidxy
38

x2 +yize2xly

Question Number : 37 Question Id : 3354727067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of the following is NOT an irrational number? | =5 # 9 s & #19 9f 951 57

Options:

A2

1 =

Question Number : 38 Question Id : 3354727068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ATl emnpty rectangular tank with base area 2400 sq.cmis filled with water from two taps. One fills 12 litres of
water per minute and the other B litres per minute. After both taps are open for & minutes, what will be the
depth of water in the tank? | 2400 77 GHT & ST §36 &1 UF Wh AT 2d H Sf Tt & T=1 49T T2 & 9 Hia
e ® 12 STt 3 G| =a 8 Hiet uid Tiee <o wear 1 6 Tie a0 ST Al &1 GoT T & W, Sohl § UTH T ot TRers et

'\:.. :
Options:
1. % 75 cm ) 75 AT

= ® 4cm | 24 9T
= % Socm | 50 3T
4 % 100cm | 100 96T

Question Number : 39 Question Id : 3354727069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Five vears ago, the age of Lata was two times the age of Arun Ten vears hence from today, the
age of Lata will be % times the age of Anm. What is the present age of Lata? /9i< a9 9o,

ST P A 30T RN AR T ST 7| TS § g6 a9 alg, ®ar 6 I HET
3G AT Q| oA BT TIH 3 T §?

18th Decl17 Shift 2



18th Dec17 Shift 2
Options:
1. % 20 vyears | 20 79
2 ® 22vears | 22 ay
3 % 24 vears | 24 99
{15 =

4. % 18 vears

Question Number : 40 Question Id : 3354727070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many prime nurmbers are there from 1 to 507 | 1 & 50 J& a1 04 90 27

Options:

1. % 13

= % 14

3. ¥ 15

4. % 18

General Hindi

Section Id : 335472215
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472215
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T i & -
Options:

1. %@

2 ¥z

3. %3

4 ® Z

Question Number : 42 Question Id : 3354727072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T | Elel A ST FuT o g1 ST B
Options:

1. ¥
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2 % E
3% g
4 % 5

Question Number : 43 Question Id : 3354727073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

FEA TR -

Options:

1.v¥2

2 %3

3% A

4 % 3

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 44 Question Id : 3354727074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AYE T R -
Options:

1. % giw

2 ® T

3. % gidw

4 ¥ 3w

Question Number : 45 Question Id : 3354727075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

qorErn Tty T g 2
Options:

1. ¥ wx

2 ® mFe

2 ® fgef

4. ® Ham

Question Number : 46 Question Id : 3354727076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T T U T H B gy
Options:

1. % Heftar

2. ® Hiee

=, ¥ Hietet

4. % T A

Question Number : 47 Question Id : 3354727077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T W A ATAT F o U g PR A A wE AT 8
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Options:

1.9 oo

= W TR

3. TR

4, ® T

Question Number : 48 Question Id : 3354727078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T Te T |1 g Mg A g R arg?
Options:

1. ¥ U + B

2. % WT + WA

3. % U + &

4 U 4 AT

Question Number : 49 Question Id : 3354727079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘o 1 ey deg FE A g T arg?
Options:

1. v 7%

2. % g

3 %

4. % gmH

Question Number : 50 Question Id : 3354727080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘o IUET T S5 9§ B 57
Options:

1. % Teprar

2. %

2. ¥ uitdies

4 % Fulr

Question Number : 51 Question Id : 3354727081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘el steg # T H & W A7 AHE 57

Options:

1. ¥ Jocqey 9Hg

2 % e

3. ¥ e T

4, ® ity gumg

Question Number : 52 Question Id : 3354727082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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‘AT ag eeT e ar el T g e ar e
Options:

1. Tar-Tear g

2. ® HEg g

3. % gERTEAT
4. ® Jz FET

Question Number : 53 Question Id : 3354727083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘R IAAT FT g T G HH FTATE?

Options:

1. & Z@rear
2. % g
3. % e
4, ¥ et

Question Number : 54 Question Id : 3354727084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT T T I AT 5 & # I AT R

Options:

1. ¥ 79
2. ¥ FeEr
3 % g
4. % grey

Question Number : 55 Question Id : 3354727085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT T O T &1, 9= 38 a9-A1

H I AT R 51 Tal o gy
Options:

1. % 3T aFwr

2. o idHe AT

% % HIE SEe

4. ¥ AT STAGW

Question Number : 56 Question Id : 3354727086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TR Teg & AT Al HAT Jeg gHwe ik £ 1 O @

Options:

1. % plea
2. % oaE
3. ® amy
4 Teriter
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Question Number : 57 Question Id : 3354727087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR O g AT O TET T 59 U9 S § AT Fei -
Options:

1. & arigd

2 % IR

3. % Fawvt

4 % aremof

Question Number : 58 Question Id : 3354727088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

'3[ U T AT T AT E -
Options:

1. ® waof & |

o & T & "

3. % TeF o |y

4. ® FUINT ATE & TqTT

Question Number : 59 Question Id : 3354727089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT 27 T e T T e FRld 5-

Options:

1. ® &AW Jeg

> f qatEwE g
3. % GHgNT g
4. ® aE@mEl aeg

Question Number : 60 Question Id : 3354727090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“TRUTHT ] THT- &g a5
Options:

1. % =07 & FAA

o ® TUd & T

Z. ¥ FEA & FH =T

4 ® o7 3 wmEA

Fural Econorry and Panchavati Eaj

Section Id : 335472216
Section Number : 4

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
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Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472216
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Majority of the total cultivated land area in India is under

_______ | O § e AT TE T S W SITERT T
& anfi R ¥ w

Options:
1. # Plantation crops | Teies (4T B
2. % Cash crops | ST BEH

=. ¥ Foodgrain crops | BTG Bd

4. % Oilseed cultivation | e & =41

Question Number : 62 Question Id : 3354727092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT source of funds for Panchayats? | FRiET § & @19 97 t=mod | & 30 09 &7 J/id A5 1
&7

Options:

1.p # Tax assignment and Tax Sharing from Governrment | @ GAgead X TtaR o B d15lT HeAT
2 ® Grants from government | @TEFR & SREH

2. % Cwn tax and Non-tax revenue | T@< & I 17 (00 &

4. ¢ Loans from Nationalized Banks | 9 Ed <& & 30

Question Number : 63 Question Id : 3354727093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

%‘16 anr%;ml audit of Gram 5abha accounts are to be done by whorn? | TTH 49T & E1a1 & J1HE w @1 5T ereed ger

Options:

1. % audit Cormrnittes of the Gram Fanchayat | TTH T=Td &1 #7704 18T 9ifts

2 % auditor appointed by Janpad Panchayat | 908 W=Tad gRT Wb si@mi g

2. ¥ Independent auditor appointed by Grarm Sabha | TTH 9T ZRT Hg® €09 o1@T Wy
4 % auditor appointed by District Panchayat | F@T t=amd grT W samoses

Question Number : 64 Question Id : 3354727094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g%e prirme c:-b%ective of Farmer Producer Organizations FPO)is _______ | e FemiaT GEat (owte) = ugE
e

Options:

1. % To create employment | TR GFd @A
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2. v"%;?_roﬁirnhance production, productivity and profitability of farmers | B! &7 Ie0e4, Je0TE®dT T ATIAST

3. ¥ Tosupply farming materials | F @t &1 amd & o
4, % Toincrease production [ Je0E- H & =T FEAT

Question Number : 65 Question Id : 3354727095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Rice is grown mostly in which part of Madhya Pradesh? | e 0T o Tord T § J& ¥ & A1 @1 Wd T P A1 57

Options:
1. ® MNorthern | Z44
2.« Eastern | W1

2. ® Westerr | TiEIHT
4 % South | SfETT

Question Number : 66 Question Id : 3354727096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the rank of Madhya Pradesh in India in milk production as per 2015-16 data? | 2015-16 & (@1 &
Aol g7 FouTaH H WG o Wed Wl @ i o7 T §7

Options:
1. % 1
o %D
3 %3
4. 9 4

Question Number : 67 Question Id : 3354727097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who %1;5 known as ‘Indian Father of Green Revolution’ in India? | IR # ‘§ia ®iid & v 1= 9T & =7 § foper mm
AT

Options:

1. ® Anna Hazare | a1 A1

2. % Dr.M 5 Swaminathan | ST 0H.0E AR
= % Dr.Vikram Sarabhai | =T 5@ geme.

4. % Kailash Sathyarthi | Femar Fogref

Question Number : 68 Question Id : 3354727098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which armong the following sectors was NOT included in Bharat Nirman Yojana? | FE@ET # § 19 91 87 vard
TerAfor =T & SrTiie A5t 27

Options:

1. % Irrigation | =T

2. % Rural Telecom connectivity | Tt § ST @l Sl
3. ¢ Education | T

4 % Rural Electrification | TmiT ferege g

Question Number : 69 Question Id : 3354727099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

When was Deen Daval Samarth Yojana started by Madhva Pradesh government? | We=T W e ZRT 219 4T
A AT Tl G BT M7

Options:

1. % 2 June, 2004 [ 2 94, 2004

2. % 1 August, 2004 [ 1 T, 2004

3. ¥ 25 September, 2004 | 25 Wgwr, 2004
4. % 1 april, 2006 [ 1 aWA, 2006

Question Number : 70 Question Id : 3354727100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Afrer the recormmendations of the Balwantrai Mehta Cormmittee, Panchavati Baj was first inaugurated by

Jawaharlal Nehru in 1959at ________ | IAaC HedT T @ T o W Jle, AdTeT ol JaE &Rl Ugl 71X 1959
H Tt T T I e

Options:

1. % MNagaur | 9%
2 % Mysore | BT
3 % Rewa | T

4 % Dispur | gA

Question Number : 71 Question Id : 3354727101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MABARD came into existence in the year

Options:
1. % 13979

2. ¥ 1982
2. % 1989
4. % 1972

Question Number : 72 Question Id : 3354727102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

One of the major functions of the Panchayat Sarmiti isto _____ | U A agE R e 7
Options:
1. % Deal with administration of justice at the Panchayat level | U=ITaT T9¢ UL AT WA o 917 9ia7

2 % Deal with rural industrialization | WHOT st w0 & @7 Higr
3. % Deal with financial matters of the State | = & TR AHAT & 0T Hial
4 Implement cormrmurnity developrment projects or schernes | ATeT<er T i =rTel AT Ar=-Talt & 7] FAT

Question Number : 73 Question Id : 3354727103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which is the funding authority for Pradhan Mantri Gram Sadak Yojana (PMGSY)? | Te=HaT TTH 5@ AT
’éauﬁw W 27

Options:
1. # State Government | =9 TET
2. ¥ Central Government | #g TEHET
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% % Building & Construction Departrment | W& & Ao e
4. # Zilla Parishad | Fem oieg

Question Number : 74 Question Id : 3354727104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich of the following is NOT a reason for increase in agricultural output in Madhya Fradesh in the last

decade? | Time T § A W # §iY Fe0Ted # Jhy & 50 FEiaEa § & @19 a7 FR0 951 57
Options:

1. ® Extensive spread of irrigation | TH=ITE &1 s THR

2. ¥ Massive increase in rainfall | @97 § sEatIE Ihy

3. ¥ Increase in power supply | Te=aT smofa # s

4, % Improved rural road connectivity | Tal @1 AIS JT6T TS®] B T

Question Number : 75 Question Id : 3354727105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘i.:"-.i'hEI'e in Madhya Fradesh is "Barli Developinent Institute for Rural wWornen” located? | 7= ‘;I%:PaTﬁ “HTAT SAATHE

Options:

1. # Bhopal | «iTe
2. ¥ Indore | Z2K

= % Gumalior | TR

4. % Jabalpur | F&EAYY

Question Number : 76 Question Id : 3354727106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wha%t? is the periodicity of conducting agricultural census in the country? | S8 H §TY FAAT0MT ST T Sl STafer
T &7

Options:

1. % 12 years | 12 a9
2. % 10vears | 10 a9
3. ¥ Syears | Sy
4, % ZIyears | 3 oW

Question Number : 77 Question Id : 3354727107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT a variety of Soyabean cultivated in Madhya Pradesh 7 | FEeiEs # & Hiarei &
Wﬂﬂﬁfﬁ@ﬁmﬁﬂéﬂﬁﬁﬁﬁmﬂfﬁ?

Options:

1. % Ahilya | affgear
2. % alankar | @
% % Indira | gl

4. ¥ Neelum | S17R

Question Number : 78 Question Id : 3354727108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Which of the following is NOT a date on which meeting of Gram Sabhas in Madhya Pradesh is required to be
invariably convened? | Ter waar ¥ Fraferas o & o o 798 751 2 Fras v awanert &1 Sow arfvam =7 & gem @ e
FATEI?

Options:

1. ® 26th January | 26 J=ail

2 ¢ 15th May | 18 7%

3. % 15th August | 15 aWHET

4 % ond October | 2 3FgaT

Question Number : 79 Question Id : 3354727109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a premier institute which imparts training and undertakes research on rural

%evelopment in India? | FEERET # § B9 &7 0@ T0E G620 & S AT 0ge oed T & e AR H DT 0w o7 gt T

Options:

1. ¥ National Rural Institute | == &6 See e

2. % MNational Rural Developrment Organisation | J5Hd & SaadHe Am-TgeaeT

3. ¥ National Institute of Rural Developrrent & Panchayati Raj | amd scielg Ak & SdeTHe U T [ T
4 % Rural Institute of Developrment | ¥ 5¢ g HTh Sdeuiz

Question Number : 80 Question Id : 3354727110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhat is the objective of Interest Subvention Scheme for farmers? | TFaM! & 60 ST GETAT T 67 T899 F47 57
Options:

1. ¥ To provide short-term crop loans at an affordable interest rates | A& T =00 241 T SFAFTIHS e F00T IS
AT

To charge more interest on loans | ST U ATTEER s ST
To total waiving of interest on loans | F 0T 1T =0 18 4T

e A
R R

To collect penal interest | TETCAT =0T ELERT

Cormputer Knowledge

Section Id : 335472217

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472217
Question Shuffling Allowed : Yes
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Question Number : 81 Question Id : 3354727111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Yottabyte (YE) is equivalent to: | ZieTage (YE) TH% aXl&T 54T &

Options:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 82 Question Id : 3354727112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Abytecan hold one __________ of data. | TFAEe, SRTHFTF __________ F AT TFAT 5l

Options:

1. % bit | &

2. % pinary digit | SEA BT
3. ¥ character | Fege

4 % nurmeric | TANE

Question Number : 83 Question Id : 3354727113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Spreadsheets, photo editing, PowerPoint, word docurments, etc, are exarmple of: | fHsd, it oi2fn dlatm@mse,
CERC T T JETE g

Options:

1. ¢ application software | YT STFCR

2 % Systern software | FeEH AT

3. % Platform software | TelehTH T

4 ® OF software | &T0H 9IFccoT

Question Number : 84 Question Id : 3354727114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Speaker isajan ________ device. | qUE UF__________ [ECI RG]
Options:

1. % output | #mITye

2. % input | T4

% % memory | BART

4 % storage | Hei
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Question Number : 85 Question Id : 3354727115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a comnputer language? | FHAAET # € &9 9F 0% FHIEE AT o7

Options:

1.9 JAVA | FTar

2 % windows | gk

% % Android [ USTOE

4. % Mac O5 | AF d0d

Question Number : 86 Question Id : 3354727116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Excel, “#VALUE" refers to: | UAUH UFdd H, “#VALUE" S8 6gad el &

Options:

1. % addition of value | AF FT A

2. % subscript of the number value | SR A9 F HEH]C
3. ¥ Error in value | A H Ji¢

4 % Font value | B 9dg

Question Number : 87 Question Id : 3354727117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is an Excel chart? | FAmEd § § F2T 0w TFad dm 57

Options:

1. ® Table of Contents | Ta Th He L
2 % Smart Art | HATE A

3. % 3-DEBar | 3-D &

4 % Bookrmark | gHATH

Question Number : 88 Question Id : 3354727118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mozilla Firefox falls under: | AINAT BIORGIHE WA & S{dTd a7 g

Options:

1. ¥ Cormpiler | THIEAT

2. % [P Address | aMEfT USE

3. ¥ Browser | #T3AC

4 % Cperating Systern | ST e

Question Number : 89 Question Id : 3354727119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To move a copy of file frorm one computer to another over a corrmunication channel is knowr as: | Teret

FHG AR T o WA | Uh FHYET § [ohd! BIgel i 1, SHC BHUEET § of ST A Fgedl g
Options:

1. ® File encryption | BT5a Ti-aqad
2. ¥ File transfer | BIEA ZIAEHT
3. ¥ File modification | wIEe AT s
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4. % File copying | TTga S1UT

Question Number : 90 Question Id : 3354727120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Portrait and Landscape mode are two types of______ | UT AR AEE A, ______ W I HFE F RIS Bl

Options:

1. % Page Orientation | U= ST
2. % Paper Size | U0 A5

= % Page Layout | U #lefae

4. % Page Color | UF Fal

Question Number : 91 Question Id : 3354727121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
PDF stands for: | PDF %70 &9 a1 &

Options:

1. ¥ Platform dependent files | GaThTH [ZU2AT TEAT
2. ® Plain data files | Y ST ETEHE

3. ¥ Portable docurnent format | Oidad STEgds HHT

4. % portable dependent format | Tiiad 1202 il

Question Number : 92 Question Id : 3354727122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the function of ‘Ctrl+l’ in MS Word? | THTE a2 §, Ctrl+] FTFar 1 5T 87

Options:

1.p ® applies bold formatting for the selected text | Hrge TFT T SFEE BT AIdS T AT 21

2. % Converts the selected text into the next larger size | Heige 07 T THET FT 30T o2 SRR H TG T HC o7 3]
=, ¥ Makes the selected text italic | Heige 7 T THAT B 5eloid T 4T 5]

4. % Adds carriage return | Fe e AEd T8

Question Number : 93 Question Id : 3354727123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is firewall? | BIRaTA FaT 7

Options:

1. ¥ an established network performance reference point | T 0T Ader A NHGT 150 ®1 UTHTH FdT 51

2. ¥ Software used to isolate a private network from a public network | SR F1 SHTHTA UF Tedd Sead &
TTEde "eadds 1 ST - § SHaATA %a—m AT 21

3. % 4 virus that infects macros | UF TT0T AT AR F1 G@iHT BT o]

4. % a predefines encryption key used to encrypt and decrypt data transrissions | U Qe e Tirardas g,

ETRT ZEHAE | T AT 8

Question Number : 94 Question Id : 3354727124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A microcomputer consists of at least an input unit, an output unit, a Microprocessor unit, and a
AEHRAIIET § FF | T0 UF 549 J-e, UF 30T i, T AI5w MEaT e a2 U _____ ST EaT 3l

Options:
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1. ¢ memory unit | BART T
2 % network | dTadr

= % printer | fifew

4 % stabilizer | FEAAEAT

Question Number : 95 Question Id : 3354727125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
when data is in list format, ________ can be used to represent it neatly in M3 Word. | 5ia 2T e ®iHe # &, 79

THOE TR R T SHTATA 59 qUYE TI¢ 0 e i @ o oy 51T 2]
Options:

1. ¥ Line Spacing | #Tg- quiET

2. ¥ Bullets | goiT

% % Case Change | fg =4

4, % Sorting | G0

Question Number : 96 Question Id : 3354727126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_______ allows each participant contribution displayved on the screens 1o all outer takin; part in the

conversation. | ______ B¢ YTTEIC & TR Pl &I U 3 AT o Toiy goriar & =i sqaai o AR I FHHER 8

Options:
1. ¥ Router | ¥T3a¢

2 % Host | gFT

Z. % Multicast back Eone MBONE) | BACi@ME &% a4 MEONE)
4. ¥ Internet Relay Chat (RC) | §2t-e T 2T (RC)

Question Number : 97 Question Id : 3354727127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& term relating to sending data to a satellite is known as: | TF ¢de F1 ST HUT F01 § FalldT g FaT g

Options:
1. ¥ Downlink | ST

2. % Modulate | IST

3. ¥ Demodulate | 2R
4, ¢ Uplink | smfe®

Question Number : 98 Question Id : 3354727128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The width of the file extension in M5 Word 2007 has characters. | TAUE 92 2007 H, e Tgada & =Sise

Options:
1.9 4
2 %2
3 %3
4 % g

18th Decl17 Shift 2



18th Dec17 Shift 2

Question Number : 99 Question Id : 3354727129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
You hawve received rmail from Mr. Karthik and the same mail has to be sent to Mr. Rajesh. Which option will you

select for sending the mail? | STweRT T BT & T Hel WIHT §oiT S JETHe FT ST0RT 8. T4 BT AT 81 S0 T He
7 Toiy Tore Terepeqy 7 I T gime

Options:

1. # Reply | e
2 % New | 99

2. ¥ Forward | Gide

4 % Reply all | Tqame oTa

Question Number : 100 Question Id : 3354727130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Docurments can be stored in: | STe<gie ® SaH Ger T =1 991 2

Options:

1. % Drives only | & SEa

2 % Folders only | o Bt

3. % Sub-folders only | b da-Biged
4 ¥ all of the above | IS T
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